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bl oo gurmoY 4iF ¥

m(o...\..fadpooln 59 )

%75[9]= > x 100=ﬁx100
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0.51x1000

[KOH] x50 =
204

1 1 1071
H = ~(pk pq +pC,) = =| ~log———
PH = —(pkyya +PCs) 2[ 87 o0
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1000 x 4.63x107°
0.1
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i a5 e ..r?sr‘w}*’l “-.’.5‘!"-". u"“-‘-‘:’lﬁﬁ

bl oo gaoo) 4y - ¥
Bl oo ol ai3S - F)

c i
AL = pH=pka+pC—a = 5=5—10g¥ = C,=05

s §

w el = 6=5—10g%’§- = C,=5

5

. 0.5

2v

K- Py I WANPLTRL g o ¢
L = pH—pka+p£a——924—1o 2X _9.24
s c. = Eax =7

s
bl oo maot a5 - FF
R ek s S L A

w90 Wlg ST aladi Jyame 3 (PH=4.7 L sigisl Sai ) NaHoPOy oJol ¥y S1 ki Jyans Ogel S onlp
il eqy s eqp om sl pPH=T7.5 L 3, splpls asl e (pPH=10.1 L jsiel o3 ) NaHPO,

NaH ZPO 4
A
Na 2HPO 4

H = pk Ca
- A4~ + D—
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{Na 2C204 _
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1 10714

= pH=— [—log
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Al o e 235 = 5
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824 ml eq 4hi %20 = ka=M
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2 31it

7.0488 x L =235 18 |,
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